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Directions : (. 41 to5i)) Read rkﬁiﬁmm'ng faro passages
carefully and answer the questions. given below them. Certain
words/expresstons are given in bold in Passage I to help you locate
them while answering some of the questions,

- PASSAGEI

Ghanshyam Das Birla was a great architect of India‘s
industrial growth. Fe started his career in Kolkata at the
beginning of this century. He set up many industries. He
entered the field of business during the days of the First
World War and established himself after the war years, First,

We are providing piece of information

dust for

b established a cotborn mill im Sabed Mandi, Delhi, followed
by Keshoram Cotton Mills and Birla Jute Mills arournd 1920,
The Keshoram Mills were set up with the efforts of Andrew
Yule. In 1919, with an investment of Bs. 50 lakhs, Birla
Brothers Limited was formed and thereafior 2 mill was sot
up in Gwalior. s

" Mir. Bidarealized thatpolitical freedom from British ryle
was imperative for the industrial growth of India. In 1920,
he came into contact with Gandhiji and became his disciple.
In the decade of the 30's he set HP sugar and paper mills,
From 1943 to 1946, with the stock excha nge gaining ground,
Birla Brothers ventured inta the areas of cars, cotton,
machinery and man-made fabrics. United Commerical
Banks was set up during this period. Prior to this, he had
established Ruby, Asiatic Insurance Co. and Inland Air
Service.

Afterindependence, the Birlas expanded their busingss
and started production in many fields. Near Mirzapur, he,
in collaboration with Caesar, ah American friends, st up an
aluminium plant HINDALCO in record time. Hebought the
Century Mill from Sir Chunnilal V. Mehta, the cousin of sir
Purshuttam Das Thakur Das, He also bought tea estates and
started cementand fertilizer factories. He established a new
style of management. In his birth Place Pilani, and at many
ather places he started many educational institutions, To
his credit go many temples, planetariums and hospitals. In
1983, he died while in London, but not before seeing his
business flourish as ane of the top most establishments in
India. During the decades of 70 and Bl's, Birla Brothers
was among the top most Industrial Houses in Tndia,

: PASSAGE I
(For Q. 51-55)

Anna Saheb Karve's life was as simple and clean as that
of an ancient ascetic {Rishi Muni); He was liberal in his
views and sympathetic in his attitude, He was deeply moved
by the troubles and tribulations of women-falk.

What Anna Saheb did for the upliftment of women in
the last decade of the nincteenth century was beyond the
imagination of the people. He created an awa kening among
women through writings in Kesari, He was a staunch
supporter of widow remarriage. On March 11, 1893, he set
an example for society by taking the bold step of marrying a
widow. The couple dedicated their lives for social work and
reform, He established an orphanage in Pune.

Anna Saheb realized the importance of education for
women. He spared no effort in starting Bharatiya Mahila
Vidyapeeth, the first university for women. In 1921, he
travelled to Europe and America, met famous people like
Albert Einstein and formulated his opinions regarding work.
In 1958, he was awarded the “Bharat Ratna’ in recognition
of his sarvices in educational and social reforms :

41. Ghanshyam Das Birla was better known to India

refersance. It may wary from
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(a) afreedom fighter against British rule

b} anarchitect of emples in various cities

ich a pi{meer of Trdia’s industrial grcrw‘ﬂ'|

1) ancarchitect of the textile industry in India
fe)  none of these

- Ghanshyam Das Birla‘s first industrial ventune was ;

{2} atextileralated industry

B acotton mill, Gwalior

lc) Keshoram Cotton Mills, Delhi

id) car manufacturing company &

() mone of these -
- What was Andrew Yule's role in Ghanshyam Das

Hirla's career ?

v 3 Bi

{a) He helped Ghanshyam Das Birla in s
cotton mills in Sabei Mandi ‘% =

(b) Hemvmaaamwﬁmkﬂuq" oo

i3} Ghanshyam Das Birla’s management style was

different from the traditional one
{a} (1) only b} (2yonly
i) (Monly id) Oty (1) and (2)

e} I_an.l}r (1) and [3)
Mm:f{}.ﬂmﬂﬁ}ﬂumthzuwi@mﬁnfmm

witich isfare most nearly the SAME in meaning as the wordfgroup

q’m;ﬁgﬁmfnhuﬁasmdmthem@g_

47. Imperative
{a} Trivial (b)  Dispensable
{c} Inadequate {d} Improper

8} Unavoidable
48 Gaining ground
(a) Obtaining land ~ (b) Making advances
fc) Losing heavily {d) Grounding due to losses
(e E'Iaving tevel playing fjold .
lrnt‘hnn:_: 1Q. 49 and 50) Choose the word il i ympst

m&mfng torthve thord given in bold s used in the

(d) He helped Ghanshyam Das Birla in the feid of ey

business before the First World War
{e) none of these : ;
- What was Ghanshyam Das Birla's view about
British rule in India ? e o
{a} The British rule was very atrocious
(b} TheBritish rule was counter productive o India’
industrial growth : ! 'E-.
(€} The British rule was not a hindrance 1o India’
industrial growth - !'&I'I.E:.! v .
(d) The indusirial growth of india had nothing to do
with gaining freedom from the British
(e} None of these
Which of the following can be inkerred from the
passage ? '
(1} Ghanshyam Das Birla covld setupa
of diverse industries due to British rale in India
(2} Ghanshyam Das Birla, withhis family members,
started various industries due to flounishing of
the Stock Exchange ' I @
(3) Chanshyam Das Birla was impressed by
Gandhiji’s philosophy.
(a) Omly{l)and(2)  (b) Only(land5)
ic) Allthe three id) m}fmﬂl‘lm 3
(2} Mone of these th
. Which of the following Mifﬁ!ﬁhh
context of the passage 7 T

{1) Ghanshyam [Das Birla Mm
vealising the progress his business had made

(2) Hindalco was set up in a very short time span

b

are providing piece aof information Hjust for reference.

@) Increased (b} Extended
{0 Banned (d) Curtailed

’S’_..g:'ﬁ Flower ®) Tarnish
{d) Disagree

£ -.ﬁh%'ﬂ' e

5L “‘iﬂ#ﬁﬁﬂ-ﬁ-ﬁqm Saheb Karve

comparable to an ascetic?
{al Hmw.mhwﬂﬂm&m
‘!‘;} His efforts Ilnwn,u;}ji Mahila
(e) His liberal ﬂm; F’ hﬁl’.’?mpat]'l}r and
- sensitivity for women and simple and clean life
id) His winning the ‘Bharat Ratna’ Award

52 What did Anna Saheb Karve do to prove that he

~ practised what he preached ?

(&) Hewrote articles in ‘Kesari’ for creating awareness
-~ AMONE WOMEn

{b) Heestablished an orphanage in Pune

fc}) He expressed very strong views in support of

widow remarriage
(d) Hemarried a widow
{e) None of these

53. What was Karve's ideology in starting Bharatiya

Mahila Vidyapeeth ?
(1) Women must have greater access to and
opportunities for eduecation

It may wvary

from Official o
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(2} Widows and forsaken women should get
opportunities for being self-reliant

(3) Uplifting of wemen who has remained
underprivileged for years

fa) All the three (b) Only (1) and (3)

{c) Only(2)and(3) id) Only(3)

{e) Omnly(1}

54. Anna Saheb Karve was felicitated with the ‘Bharat

Ratna” Award for:

(1) His recognizing that educational reform alone
wag the eolution to all the problems that women
face

(2} His contribution to the education of women and
their social fransformation

(3) His intellectual discussions with world famous
scientists and social reformers

{a} (1) only B} (2)enly

(c) (3)only {d) Only (I)and {2)

{e) All the three

55. Which of the following statements is definitely TRUE

in the context of the passage 7

(1) Before the last decade of 19th century, widow re-
marriages were socially unacceptable

(2} AnnaSaheb Karve thought that educating women
was one of the most effective ways of their
upliftrment

(3) Anna Sahieb Karve's wife actively joined him in

fa) Only(1}and (2} (B} Only(2)and (3)

<) Only(and(3)  (d) Allthe three

fe) MNone of these

Diirections : {(). 56 to 65) Read each sentence to find out
wtether there is any grammatical ervor in i, The ervor, if amy, il
be irt ane part of the sentence. The letter of that part is the answer.
If there is no errov, the anssver is (e) ie.. “Nb Error’. {1grore the
errors of punchuation, if amy).

56. The road from the (a) / river bank to the hut(b) /was more
. It::ﬁlcuifﬂmn {c)l/we have feared (d)/ NoError (#)
s nnﬂthm{ajflhudludﬂltfb]fhmthrm it
e ;l;lﬂgues{c}ffnrddeﬂypmph (d}# Mo Error :rmg
ing the course of the exhibition,{a)/ the old man
who was(b) /looking unusuall cheerful

the take notes (d}/ No Error (&) 3 i i

9. Unable to decide (a)/ what dodo, (b)/ he started at
fountain l.‘-r]fattlu:c-erm-eo.fﬂ'-uparkid}f No Em::f:_;]m

8. The bank emplovees could remember [ohn (a)/ as he
has been maintained (b) /his account with the bang.
{C}qurthrlastimfmm{d}f No Error (g)

61. There has not a (a) / moment when the gates (b}, of the
bungalow(c)/were not being watched (d)/ NoError(e)

=

are providing piece of information -Hdust for

62. Haven't you notive {a)/that for the past one month (b}
he hasn’t been here (c)/at his regular place ? {d}/ No
Error (g}

63. [t seemed tohim (a)/ that the manager of the (b),/ bank
looking at him (c) /in a rather suspicious manner (d}/
Mo Ermor (e)

84.The policeman went away, (a)/ apparently
convincing(b)/ but he did not (c)/ feel safe at all (d)/
Mo Error(e)

65, It was with that mament (a),/ that the front door scanner
(b} warned us that (c) /someone was approaching (d)/
M u

Error ()

Directions : (. 66 to 70) Which of the phrases (a), (B), (c)
and (d) given below should replace the plhrase given in bold italic
in the senlence fo make the sentence grammatically meaningful
and correct. If the senterice is correct as if is and No correction is
required, mark (e) as the answer,

66. Anyone with a little interest in sports is bound to
familiar with Sachin Tendulkar's name.
(a) Binding toa familiar
{t) Bound to be familiar
(¢} Binding to be familiar
(d) Bound to have familiar
fe) Mo correction required
67. He asked me if I will accept his conditions if he
helped me.
(a) That if I will accept
{b) ThatifIwould accept
() Iflwouldaccept
{d) If would 1 be accepting
(e} Nocorrection required
68. The ship was not fit to survive another storm as the
damage was beyond repair.
(a) Fittertosurvive
{b) Fittobe surviving
{c} Fitting for survival
{d} Fit with survival
{e) Mo correction required
69, His changed attitudes did not go will within his family.
{a) Had not gone well within ’
(B} Went not well within
{c). Could not go well into
(d} Did not go well with
(e) Nocorrection required
70. What ai{ ﬁ: mrean, hi‘ that the disciplines are more
(a) All this means

referance. It may wvary from Official o



- b Does all this mean hhdmmmlﬂﬂpw Famil ’
& ~ -4 e
ol Y the meaning was born on 25th December, 1681. I-Itfa::,::ghtstuﬂg:

{d) Does this all mean After graduating in 1891, he . ~{76)... law but later jumped
{e) Nocorrection required inta the. of freedom ﬂ!]';!ﬂﬂﬂ It is ironic but . (78)...
Diirections : (). 71t 750 In the followwing passage, a set of that he waslovedb oth wwﬂﬁpbahuiﬂmm

psent; (3), (4),(5), (6hand (7) to make a meaningful paragraph.

it staberents denoted by (1), (2), (3), (40:45), (6) and (7) are - VIyA was an Indian . _.._.-_&Fbﬂhﬂl‘lE'-H?_mm
aresiver Mie grestions Bt follow, .
Galileo Galleli was one of the El'ﬂhﬂt scientific ﬁ!‘ﬂh:pl:m hfhﬂﬁml

4T ".' ﬂ]'ﬂﬂﬂlrﬁmtsfﬂem: rearrangethe other six to the Ind
ﬁ'
pioneers who is still remembered. 00 0 fis o R g _I":l'“"‘l':li"':F"I!"']'""‘M'K"J-“-al
It darkened his life and all his achicvemenis. . ﬂ- ol A .. lh uint ol

It was because of this, that he wias el : i : .
His name lies on as ﬂll'lﬂf " :E;,:;T;m tdypoot
o 77. {a)absurd {b) unpalatable
{c) extreme {d} unreliable
el g & o ks
O (Y wiliy e {b}m
{c)at b {dyof
(e} by
80. {a)admired (b} o
(c)at :  (d)of
(e)by
{e) enters .
(Quantitative Aptitude )

Bl Ifk&ﬂm&hmhzjrmwhﬂml[
Rs. 86 amount to in 4 years at the same rate percent

. 3

74 Which of the following per annum
statement after rearrangement ? {a) 1148 ) 86.70
W {c) 55.40 {ﬂ} 5160

(&) MNomeof these
N -2 The average salary of the entire staff in a office is

Rs. 120 per month. The average salary of officers is
Rs. 460 and that of non officer is Rs 110. If the

25. Which of the following should be the SEVEN

(LAST) statement after rearrangement ? 'j__. number of officer is 15, then find the number of
(a)2 (B)3 ; ; non-officer in the office?

{ch4 {d)5 =1 mi, S {a) 480 b 500

{e)6: —_— defe) 510 id) 540

Directions : (. 76 to S0 In the follouing passage. fhere are j =
Blanks, cach of uhich has Been numtbered. These mumbers are printed ﬂm‘:‘w AL s A e

Below the passage and ayainst sach, five words are suggested, one

; 3 : ; 20 years, he would be just twice as old. At the time
qfnr#fuﬁﬁts the Blark appropriztely. Find out the appropriate of birth of hi I h old the father
word in each case, be?

We are providing piece of information just for reference. It may wvary from QOfficial o



84,

85.

Bb.

BY.

91

(ay 28
(c) 32
(8l MNone of these

A, B and C started a shop by investing Rs. 27,000,
R 72,000 and Rs. 81,000 respectively. At the end of
the year, the profits were distributed among them.
If C's share of profit be Rs. 36,000, then the total
profit was:

(b) 30
(d) 35

_{a) 30000 {b) 60000

{c). BODOO (d) 120000
(e} MNoneof these

935421 x 625 =7

(a) S5F¥5648125 (b) 584638125

(c) 5B4649125 (d) 575628125

i) MNoneof these

A number when divided by 119 leaves 19 as

remainder. If the same number is divided by 17,
the remainder obtained is:

(a) 2 by 3

Q7 id) 10

(e} MNone of these
E:dudjngatnppagu,mupeednf:]msisﬂkmph

and including stoppages, it is 45 kmph. For how
many minutes does the bus stop per hour?

(a) 10 min (b) 11 min
{c) 12 min (d} 13 min
{e) MNone of these

In an (a)P the 12th term is 61 and common
difference is 5 then find the serjes?

{a) 6 11,16 b 47,11
ic) 5811 (d) 3.9.11
{e) Noneof these

Find the sum.13415+...+47 7

{a) 120 (b) 220
{c) 230 () 340
(e) MNoneof these

Express 0.04% as a Decimal:

{a) 0.0004 b 0.04
e 0.4 id) 4

{e) Noneof these

1/2is what percent of 1/37

{a) 100% (b} 125%
(&) 1500 d) 175%
() Mone of these

hh‘ainwm]m;plmu:mmmmﬁ:gamhnph
in the same direction in which the train is gaing, in
10 seconds. The speed of the train js:

{a) 38 km/hr fb) 40 km/hr

)} 44 km hr (dy 50km /hr

{e) MNone of these

are providing piece aof information Hjust for reference.

93,

95.

100,

CIHCHCE 1e5T FAPers

The Prices of a scooter and a T.V are in the ratio 7:5,
If the scooter costs Rs. 8000 more than a T.¥ set,

then the price of a T.V set is:

(&} Rs. 23,000 (b} Es. 28,000
{c) Rs. 37,000 id) Rs. 45,000
{e) Rs. 52,000

ﬁ,Endpﬂninrpimeofwmkjnlﬂ,iﬂmd 60
days respectively, In how many days can a do the
work if he is assistéd by B ardd C on every third
d‘rl‘ r_‘ LS

(a) 12 days

(c) 16 days §
{e). None of thesek,
Wheh a producer alluws 36% commission on retail
price of his product, he earns a profit of 8.8%. What
would bchlagmﬁt?fﬂmmmhﬁssiun isreduced
‘hy 24%7

(b) 15 days
(d) 18 days

fah 49.6 % ™ 57.8%
(€) 66.5% (d) 729,
(&) MNone of these

The average weight of A, B, C is 45 Kg, The avg wel
of A & B be 40Kg & that of B, C be 43Kg, Find the

wet of (b)

(a) 19kg (b} 26 ke

&) 2kg (d) 31kg

e} MNone of these

The true discount on a bill due 9 months hence at
12% per annum is Rs. Find the amount of the bill

and its present worth.

{a) Rs. 5000 {b) Rs. 10,000
(¢} Rs. 8,000 (d} Rs. 7,000
le)  MNone of these

If the sum and difference of two numbers are 20
and B respectively, then the difference of their

squares is:
fa) 12 b 160
{c) 28 (d) 180
() None of these

. The Sum of three consecutive ndd numbers is 20

more than the first of those numbers. What is the
middle number?

{a) 5 b) 7

) 9. ¢ id) 11

e} MNoneof these

An Employer pays Rs. 20 for each day a worker

works, and forfeits Rs. 3 for each day he iz idle. At
the end of 60 days, a worker gets Rs. 280, For how
many days did the worker remain idle?

(@) 20 b) 11
{c) 30 d) 40
(2] Noneof these

It may wary from Official o




81. Kiran has 85 currency notes in all, some of which (c) S0 oy ﬂEl{ﬂ
mnﬂhlﬂldmﬂmnmhunmdﬂmmmmngnf &) mﬂ-ﬂm b
_ Rs.50 denomination. The totalamountof all these 44, wmhﬁmm.mmﬂulumdinm.m

currency notes was Rs. 5000. How much amount that its volume doubles after every five minutes, [f
did she have in the denomination of Rs. 507 ummummmmﬂ ta be full, then the
fa) 1900 k) 3500  vessel will be one fourth full in

{e) None of these . " 9% mibutes

1 of buffaloes and ducks, the number of fc) 7 minutes 30 seconds
gs are 24 more than twice the number of heads. ~{d) 10 minutes
hlhzm.nnbcrufbuffilmmﬂlem? = B it 3 ivanicin

ia) & {b) 8

o 0 cat ﬂnhﬂﬂﬂh]ﬂmm{mgﬁll
© 10 (d) 12 et ce 100 cats to kill 100 rats
&) None of these i = ) Liinetes @) 10 miniite

100 minutes {d) 10000 minutes

Mone of these
]_'ﬂ. If 75 % of a number is added to 75, the result is the
number itself, then the number is:

. Three candidates co

{a) 250 (b) 750
J " {e) 400 (d) 300
(el Nunrnt’ these © 375

- 113. A school has enough food for 400 children for 12
days. How long will the food lastif 80 more children
join them?

..'* 6 days () 7 days

mmuuu; _t ;

. _,'I 5:4:6

e y

3 10:12:15 .
44 = :!mda}:fm id) & days
and & leaves a remu bye 114. Two poles of height 6 meters and 11 meters stand
L no sechaiadl . on a plane groun. If the distance between their feet
@ 1521 : : find the difference in the distance
(© 2119 between their tops:
[ {e) Noneof these , {a) 12m {b} 5m
106 mhmmu ing ; z fe) 13m {d) 11m
(a) ?j:s o T ' (e} 10m
3 i -
g o ) o f—l!- Haw many balls of radius 4 cm can be made from a
107. Mwhﬁmuﬂfﬂlflpk (a;u 1 n:b} 8 iy
willbe doubled in 10 years? =~ -_-. ) 16 (d 2
{a) 10% (b) 75% . {e) Noneofthese
E;Ji' II;: (d) 15% L s, The solution to x2 +6x+9 = 0ig ...
R YT B T |
108. Five times an unknown number ST xT=3%2 =3 "
The unknown numbes AT € <=8 0ea
{a) 10 b 11 T id) xln-i':ﬂ=+2
t(.:,}m :r (d 5 fe) Noneof these
il e L1 :
1 at i Ihnd!irm:af
g - e y t gettinga 2or 4 in rolling a die?
hand of a clock at 4 PM e 3 "," o Tl e
(a) 900 {b) 1200 e te) 1/7 s

We are providing piece of information just for reference. It may wvary from QOfficial o



118.

1159,

120,

121

123.

124.

125.

=

() DilmaRousseff  {d) Dr.Manmuohan Singh

Atwhat rale of simple interest per annum an amount
will be doubled in 10 }"EEIT!I-? {) Vladimir Putin
@) 10% (b)  7.5% 126. Which state will set up the first public health
(<) 16% {dy 15% university in India?
(e} None of these (a) Manipur (b) Gujarat
For which of the following values of x the ;
inequality x (x + 3) < 10 is satisfied ? ;::; ?G;“h;" Pradesh (d) WestBengal
R T i 127. Fublic Provident Fund (PPF) is a savings-cum-tax
Ry G saving instr-ument, What is the minimum tenure of
() Moneof these the PPF account?
There is a leak in the bottom of a cistern. When the {a) 5years (b} 7 years
cistern is thoroughly repaired, it would be filled in (6): Miyrs (d) 15 years
34 hours. It now takes half an hour longer. TF the
cistern is full, how long will the leak take to empty fe) 20 years
the cistern? 128, Whatisthe maximum amount that can be invested
{a) 24 hours (H) 28 hours under t‘n.e PPFE scheme in a year?
() 21 hours i) 27 hours () Rs25, 00 {b) Rs.50, 000
(e} Mone of these i) Es.75, 000 id) Rs.1, 00,000
{e) Rs.2, 00,000

( G )} Mwhreness j 129. Eﬂl}tdl.‘ o{ Ha?:pau(;umlbt:?enl to micro and small
Who was elected the Chairman of the Asian Forum {a) REI (b) IBA
of Parliamentarians on Population and Deve- () BOSBI id) SEBI
](.?Fm!‘_l‘ll [AFPP:D] d'l.l.l‘]l'l.g the 73rd Em?cuiime t;;} Mone of these
zﬂn{;;mtt:rhmmgufﬁ.mﬂ at Bangkok in April 130, KYC gnide[ines have been framed as per the

ideli 7
{a) FJKurien () Hamid Ansasi E’:; 3
(c) KariaMunda  (d) Arun]Jaitle L
Lf (b) Financial Action Task Force
s Ponm ol these {¢) Reserve Bank of India
Who was awarded the prestigious Dada Saheb o Im:l'. " . e
Phalke Award, India's highest film honor, for the (d) Indian Banks Association
year 20127 5 () Ministry of Home A ffairs
(a) ManojKumar (b} Pran 131. The term 'Power of Attorney’ refers to?
(c) Rajesh Khanna (d) Vinod Khanna (@) Powerofaperson
{e) Amitabh Bachchan B) Anauthority to operate a bank account
Which state decided to declare Malkhamb as the c A written authorization to act on another
state sport in April 20137 person’s behaif
{a) Haryana b) Punjab {d) Both1and2
fc} Madhya Pradesh (d) Uttar Pradesh () None of the above
(e) Himachal Pradesh 132. Bridge loan refers to?
With effect from April 1, 2013 the i {a) Loan ted to P .
Public Provident Fm (Wﬂhﬂﬁmm on bﬁdgﬁm companies for construckon of
8.8 per cent to? {b) A short term loan that is used until a person
:a} :.? per cenit &) 8.6 percent secures permanent financing
© BSpercent  (d) 8.4 percent ) Loan granted to PWD for construction of bridges
Who is the only head of {d} Both1
to attend all B!{ICS Slrn::?;;;:;:ﬂ suofff:; 7 i fe_!} MNone nfm:;:e
%) HuJj T - ;
{3 Hu]intap (b) XiJinping 135. Ifa ::5;;1“ is Nt satisfi®® with the decision
pm e Baﬂkl'..l'lg Dmbudsman, I'lefshg can
We are providing piece of information just for reference. It may wvary from QOfficial o
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the appellate authority. Who is the  '(b) Department of Indusirial Procedures and

(o) DepummﬂhmmFuﬁcyandPrmuﬁun
{d) Directorate of Industrial Procedures and
Promotions
(e} MNoneof these
: 143. The Business Correspondent Model adopted by the
s bocksiereliiaiby Chetin banks provides banking facilities to?
(a) Corporate borrowers
(b} Those who are taking housing loans
(c). Weaker sections of the society and rural people
{d) Both1and?2
{e) None of these
144. Carbon credit concept is associated with?
(@) Waomen empowermenk
(b) Coal mines
fc) Development of rural infrastructure
idy Deﬂ.relnplnen.tufmbmﬂnﬁ‘mm
(o) Mome of these
145. Which of the following is not a core industry?

fa) Crudeoil (b} Coal
{c) Cement (d) Automobile
{e) Steel

. Which of the following schemes is related
Bictusively o Finaicial Inchsson?
Swabhiman (d) Bharat Nirman

1 ‘EEMHWEEHIWH&
hldi-l?
L of foreign portfolio investment

ey \
 (d) Bothland2
" _ . LM‘!" L bd

. What is a teaser loan rate?
() mmwbyhnks
) Flo of interest charged by banks
" E’Mh the initial period is less and

Instruments Act

i g Acts? : e aif interest in the initial period is more and it

Bl

() B.mkn-tgﬂ:gulmmm »
142. What is the full form of DIPP?

{a) Dnﬂnrawofmdummf

E b} Slums
(d) MGNREGA

We are providing piece of information just for reference. It may wvary from QOfficial o



=

x s § isused in the field of
:5 associated with . Which of the following terms 15 1S
g e :i':l':l; f?u;::ns mon s S finance and banking?
Rame min ; () Refraction by Gauge pressure
(a) AgaKhanCup () DavisCup ) Adiustmenteredit(d) Absolute zero
fc) Fed Cup {d) UberCup s ol
Merdeka Cup : ¢ e by?
151. ﬁhlch of the following terms is used in the banking 160, lmrr;tBr::r Protection Fu{::jl ':;;3 established by
field? la) =
{a) Convolution ' (b} Dephasing (e SIDBI pud H8JHEE
{c) Rotation matrix (d) " Atomic number {e} Ministry of Finance
(e} Mone of these
152. Millennium Development Goals are issued by? Cnmputﬂ' Kmrw!edge &
E:r:}ll :*:fa:l:;ifi S Marketing Aptitude
[§
rciad 161. Modem Computer are very reliable but they are
id) IMF nok
{e) Prime Minister's Economic Advisory Council (a) Fast ) Powerful
153, Imm”lghmmﬂf India: iISCa‘l.lwandCure" {E'] Infallible {d} Chfﬁ]—-‘
was written by? . - {e) MNoneof these
{a) [Chazan Singh (8) Mol Dgsot 162. What is the name of the display f_tature that
{c) Indira Gandhi (d) LK.Gujral highlights are of the screen which requires operator
{e) Jawaharlal Mehru attention?
154. Which of the following is an economic term? (a) Pixel (b) Reversevideo
(a) Lampoon D) SEateiL hev (¢} Touchsereen  {d) Cursor
(c) Plaintiff (d) Deflation (&) None of these
(), Bunkenbiasies 163. IMB launched its first personal computer called
155. Whatisthe full form of the term LIBOR? IBM-PC in 1981. Ithad chips from Inbel._dusk drives
{a) Local Indian Bank Offered Rate from Tandmopenﬁn&sytzﬁtemﬁﬂm:\:hcmufntiil::
Lond ter from Epson a application so
% e Rata_ ﬂ : hrf-lr_Cm you name the country which
(c) Liberal International Bank Official Ratio mmthg - display?
i} Landon-India Bureanof Regulations i s, video gtk
{€) Noneof these a) . UTW‘I-‘MEH
156, Patratu Thermal Power Plantisin? (c) Germany
(a) Bihar by Tharkhand ie) MNoneof these .
(€} West Bengal d) Madhya Pradesh I‘d l’mlmm use a number of chips mounted
(e} Chhattisgarh ;l Eln t:irml; board. What is the common name
157. Which of the following expanded terms is not 5 boards
correct? {a) Daughter board
{a) ALM: Asset Liability Management ib) Mtﬂhﬂw
by CCEA: Cabinet Committee on Economic A ffairs {c) Fatherboard
{c) FSDC: Financial Stability and Development {d) Breadboard
Couneal (&) MNoneof these
{d) GSLV:Geosynchronous Satellite Launch Vehicle 165, In most IBM PCs, the CPU, the device drives,
{e) GNF: Gross Met Product memory expansion slots and active components are
158. 'Goodbye Shahzadi' is written by Shyam Bhatia. It x:uumd ;n a single board. What is the name of
is the biography of? board
{a) Sheikh Hasina {b) Benazir Bhutto {a) Motherboard (b} Breadboard
{c) Khaleda Zia (d} Heena Rabbani Khar {c} Daughterboard {d) Grandmothes board
{2) Noneof these (e} Mone of these
are providing piece of information Hdust for reference. It may wvary from Official o



What is meant by a dedicated computer?
fa)  Which is used by ome person anly
b} Which is assignied one and only one task
fc}  Which uses one kind of software
{d} Which is meant for application software
(e} MNoneof these
- The system unit of a personal computer typically
contains all of the following except:
{a) Microprocessor (b) Disk controller
(£} Serialinterface  (d) Modem
{e} MNoneof these
A computer program that converts an entire
program into machine language is called afan

(a) Interpreter (b) Simulator
(c) Compiler {d) Commander
fe) Noneofthese
- A computer program that translates one program
instroctions ai a time info machine language iz called
afan b
(a) Interpreter i S
{c) Compiler 1
(@) Noneoftisse
A small orintellige:

171. The ALU of a computer respon
coming from ’
(a) Primarymemory (b) Cos
{¢) External memory (d) Cache
(e} Mone of these

172, All modern computer o ---.-
{a) Information b} Fl ;
(€} Data (d) Waord
(e} MNone of these ]
173, Instructions and memory address are re
by F

fa) Character code
(c) Binary word
{e) None of these

] Bjmr}'{:ﬂdéﬁ.'_'l-
(d) Paritybit,

174. Which of the following code used in sy
computing was developed by IBM Cum

‘Wiiﬁoﬂhm

184 RSSStands for-

(a) ASCIl {b) Hollerith Code
{c) BaudotCode  (d) EBCDIC Code
{e) Moneof these

175. What is the latest write-once optical storage media?
(a) Digital paper b} Magneto-optical disk
{c) WORM disk (d} CD-ROM disk
(e} MNoneof these

We are providing piece of information just for reference.
E ' 7

zar

176. The mostimportantadvantage of a video disk is
(a) Compactness  (b) Potential capacity
(c) Durability {d) Costeffectiveness
(e) Moneof these

177.  Whatis the number of read-write heads in the dedve
for a 9-trac magnetic tape?
a9 (b} 16
© 18 (d) 27
(e} MNone of these
178. Before a disk drive ¢an access any sector record, a
computer program has to provide the record's disk
address. What information does this address
specify? '
{a) Tracknumber (b} Seclornumber
{c} Surface number (d) All of above
(e) Moneof these
179, As compared to diskettes, the hard disks are
(a) Moreexpensive (b) More portable
{c) Less rigid {d) Slowly accessed
(e} MNoneof these
180. Floppy disks which are made from flexible plastic
material are also called?
(a) Hard disks (b} High-density disks
(c) Diskettes (d} Templates
{2} MNone of these
181. Acampaignisa
(a) Specific message being sent to a specific group of
recipients
{b) System
c) Plan
id) Market
(el MNoneof these

Which is the type of marketing concept?
(a) Production Concept

b Product Concept

{c) Sales Concept

{d) Marketing Concept

(e} Allof these

Which is not the concept of marketing?
{a) Social marketing concept

&) Product disposal planning concept
- &) Marketing concept

"~ {d) Product concept

fa) Real Save System
" ) RoleSaver System
) hlﬁmphﬁ}'mﬂi:aﬁm
{d) RealSaverSystem
fe) Noneof these
It may wary from Official o



185,

156,

187,

188,

189,

1940.

191.

192.

We are providing piece of information just for reference.

The selling concept applies on:

(a) Bank and other Financal Institution

(b} Imsurance

{c} Gas

{d) Water Supply

(e) All of these

Which bank is following high Pressure Selling of
their produci?

{a) ICICI Bank
(k) State Bank of India and UCO bank

fc) Bankof Baroda

id) Bank of India

(e) All of these

Which is the part of Selling concept?

{a) Profitby sales

k) Production of Present Product

() Sales/Promotional efforts

{d) Allof these

{e) MNome of these

Which concept of marketing is based on customer
Welfare and Satisfaction?

{a) Sacial Marketing Concepi

() Production concept

ic) Product concept

{d) Marketing concept

{e) Allof these

Social Marketing Concept involves:

{a) Long run wellare of sociery

(k) Long run satisfaction of customer

(c) Research and development

id) All of these

(e) MNone of these

Which is the assumption of Social marketing?
{a) Long term profit

{b) Long run satisfaction of customer

{c) Social Performance

d) Social welfare

(€] All of these

Marketing concept earns the Profit with?
{a) Customer satisfaction of Bank

(b} Staff (<) Product

(d) Building () ATM

Which is customer and i

ek chingt society-oriented concept of
(a) Production concept of marketing

(b) Social marketing concept

(c) Productconcept

{d} Marketing concept

fe) Selling Concept

193.

194.

195.

196.

197.

198.

199.

Which is the pillar of marketing concept?

(a) Financial planning and control

(b} Customer orientation

{c) Plant

(d) 'Fixed Cost

e} Sales

Which is not the pillar of marketing concept?
{a) Integrated management with marketing fulcrium
b)) Cost

i) Customer satisfaction

{d) Welfare of customer

fe} Allof these

Which is the base/rule of Customer-orientation?
(a) Customer isa king of market

(b) Staffis a king

{¢) Profitis aim

(d} Goal

() Programme

Which is/are marketing activities?

(a) Product Planning and Pricing

{b) Pricing {c) Transportation
id) Al of these (e} -Mome of these
CRM stand for

{a) Ceniral Role Money

(b} Customer Relationship Management

(c) Customer Rate Money

(d) Allofthese

{2} Mome of these

Customerisation means

{a) Promotion

{b) Goods offer on various conditions

{c) Customer-orientation and Coordination of
marketing activities to achieve the isation’s

b organisation’s

(d) Sales

(e} Relation

Which is customer information?

{a) Purchasing Priority

) Like-dislike

() Customer’s Income

(d) Customer's Age

(e) All of thess

Which isfare ing i

nfm:rhﬁngmrj FYAATS Emportanee

{a) Population growth

{b) Lagal Protection to consumers

(] Technological Change

Id) Credit and Loan facilities

{e) All of these

It may wary from Official o
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. If in a certain code, TEACHER is written as
Emm ) ' - ﬁm‘cﬁm,mmﬁmmmuwﬁmm
st e : th J i
Direction-1-5: [ ﬂmmﬁw & A )
=n (d) FWNNCTF

sword canpot be nude from the letters of the given
} A :
mﬂ; ;ldn. FASHION is coded as

1. RECREATION
is written in that

ing to a photograph, a ;
s person tells his frien

3y m&mmm$
- 0w isthe girl in the photograph related

(b) Sister :
{d) Sister-in-law

o g il E e
hm!;l“;mhnw]n;

T

AfelAY
RS e

Direction 7. Choose the correct o
mvmmmmmmmmh'
n!ﬂruﬁgﬂﬂpﬁg&ﬂiﬂmm.

6. Executioner: Criminal

{a) Florist: Flowers (b) Convict: Murden
(c) Butcher : Animals(d) Worker: Manager
(e) MNone of these :
7. Kangaroo: Australia
(a) Whale : river
(b} Elephant : Russia
{c) Penguin: Antarctica
(d) India: Peacock’
(e} MNone of these
Direction B—lnﬂmuwmmnpﬂm
8 Ehnmmmmﬂamdduw
how is FAMINE coded in that code? 1
(a) FBMIND (o) FZMHND ;

(c) GANIOE (d) EALIME i
(e) FENIME 4’3
1

reference. It may wvary from Official o
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{a) €.B b LH )
© BH (d EC o 1]
&) HC -
17, LLXJLV.HTFE11
fa) RD v R.E
o) SE id) QD
fe) None of these
18. Z,5W,0,T.K.QG,1%?
{a) N.C b} N.D
) OC id) O.D
(e} MNone of these
nhuﬁmu-m.rmmq'rfrﬁﬂwbrgwmm'wr

of letters i yrivern which are mumbered 1.2 3.4.5 and 6. Below are
given four alternatives containing combinations of these mumbers,
Select that combination of numbers so that letters arranged
accordingly, form @ meamingful word.

19. D.LEERN
1,234,566
{a)-1.4.3,6,2,5 k) 64,3521
) "BE5ZLE8N (dy 5,4,3,2)61
(e) Moneof these

20 KATCEL
1,2,3,4.5.6
(@) 4,2,3,1.5.6 (b) 1.2,4.5,53
ic) 653,241 id) 3.2,4.1,6,5
(&) None of these

21. Lrwmfiumladfuud,fmdbuundd:hhdrhku

called blue, blue is called red, red is called white
and white is called brown, then what is the colour
of blood 7

(a) Blue b} Red

{©) Brown (d) "White

() Drink

lnnuﬁ-inmﬁlnmﬂ:mrd
mum-hﬂhﬂm
be written in the code language ?

fa) QERUERI ib) REQUER]

{c) ERIUQER (d) IREUQER

e} Nomeof these

In a certain code hn;nlge DESERT is written
RTSEDV{e) How will the word FAULTS the written

in that code language?

(a) TSULFA (b} AFLUST
{c) LUAFST {d) UAFSTL
{e) None of these

24, How many meaningful English word can be formed

We are providing piece of information just for reference.

by using the second, the fifth, the seventh and the

i

Practice Test Papers
tenth letters of the word API’RQPR.[ATIDN, each
only ance, but in different sequence ?
fa} One ‘b Twa
i) Thres (d) None of these
(e} More than three

Directions-(Q. 25-29) Study the following information
carefully and anster thequiestions given belory 1A, B C. D, E. F,
G, H and Kare sitting around a circle facing the centre. F is fourth
to theright of A who is third to the right of BI K is fourth to the lefi
of B and third to the right of (d) C is third to the right of I-1. E is
second to the left of G.

25. Whois to the immediate right of F 7

7.

9,

the conclusions amd then

{a) B b G

c) E (d) Data inadequate
(e} None of thess

Whao is third to the right of K ?

{a) F b) E

© G (d) Dhata inadequate
(2} MNone of these

What is E's position with respect to B ?

(@) Second to the left (b) Third to the right

() Fourth to the rightid) Third to the left

fe) Fifth to the right

Who is fourth to the left of G

{a) C ) A

) D id) K

fe) Datainadequate
hwﬁ:hﬂlhfﬂhwingmhindiminheﬂlird
person sitting between the first and the second
persons 7

{a) GFB b) BGH
{c) ADC ) KEC
fe} EGF

! the givent conclysions

logically follows from the given statements disregardin
canerony knogon facts, '

30.

Statements : Some trains are cars. All cars are
:m All branches are nets. Some nets are
resses.

It may vary from Official o



S (a) Only land OT follow c 3 idy 4
- {b) Onlylland I follow (&) Noneofthese - ;
- {c) OnlylandIV follow Qrusaron Figuzes AW :
. - {d) Oy I1, I and IV follow L 34 S = Z -
[ 6} Memeof these Nl.%“#ﬁ\_ ? l
31 Statements : Aﬂpnpmlndlpu.ﬂu-e#ﬁ I k.
: boards. Some boards are lanes. el A
o All Ianes are roads. Conclusions : _ el oM V S ‘E‘ 25
: :._I‘ Sorme roads are boards, S in i) i3) [
I Some lanes are clips (a) 1 ) 2
ML Some boards are papers . i) 3 d) 4
V. Some roads are clips. . (e) Noneof these
(a) Onlyland 1l follow p Berion P

{b) OnlyIand Il follow
(c) Chml}fl,]landﬂ.[ﬁ:lkwﬁ

(@) Only ILTH and IV follow. .

{2} None of these
32. Statements: Snmaptndk

desks. { All desks are ju
maountains, ;
Conclusions : _', :
L Sumanmmt&imm dls.
I Somejungles a
IIL Sumemmmtanﬂﬂ
v, SDmepmgieuarehh..
(@) Only land I follow
(b} Only . Hand III follow

{c) OnlyIland IV follow
(d) Dn]}*[-l,II]andW!dh#

(2) Moneaof these
Directions (0. 33-40) : In the questio
difinite relationship between first two _ﬁgm&. .
relationship between third and fourth (7) fi
suftable freure from the ansier figure.

NZ:SVI Ol 2

33.

-

]5 JF)IEe)|eL

i 2) 1] 0

1 2
{a) (b) B e o e

We are providing piece of information just for refsvance.

S
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(b)
(d) 4
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